TH3HE 70 RXBBHES RE
B & $R3F128238 (X
Fi% 28NS
= 1B ®BXISY Al

1 B =

2 BohBEoEEsEA
(1) BB=HRS (BR1-1] ~ [BR1-3) - [(BEERN]

(2) XBEHESZEME=RICDONT [ENGEL]

4 Z0ft

5 eI
ERRE  BH4E 18268 K F#& 28400 RXISY H—

F18= H045F 18148 (& F8i1 08 RXTSY BERE=2
F28= wW4E 18118 QO F& 36K KXTSY BEERE=E
E38= HW4E 18138 (K F811 08 RXTSY BERB=2

L#Rsl= w045 18188 R F1& 16 KX =EEA

6 B=
(BcfhERN)
(BER1-1] 5185 (MRBESF) SRR EI=]i)
(BR1-2] F28x (B - B - LBPD =HEB25R (BBEH)
(BEN1-3] E38x (EX - RIREF) SHHSR EI=]i)
g8 2] MEAROKRBOBOME « @ LEICRITIESEROIEICDNT (BBEH)
(EX3-1] FBPAHMERBRSR R EI=]i)
(ER3-2] ARHMEEBRORN (BBEH)
(BN 3-3] MWERIRGFHBORESFHEIRICONT (FE) (ZB8m
(Z2EERN] FRHOAHMETH | NK (ZB8m)
(ZEEN] BHINsBAFE24S (BBEH)
(ZEER] RXEEREIVRIDTA (ZB8m)

(ZE&R] RXTISURE1 OFFSRSRX/N\LYYrYIVY—h (ZB8m



